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R3.2. 24 18 |HmEETESES QA 4,630 50 2, a15i ] 0 0 0 0 0 2, 315 0 of

Ri.2.24f 19 |BEFE&ESE QA g7el 50 439' 0 0 0 0 ] 0 439 0 0

R3.2.24) 20 |EHHESES 284 6, 782 5ui 3,301 i i 0 0 0 0 0 3,30 0




(fFrEt 4)

&S £ 2
= B kR &
[ 5 TERER]
f{HIF 2A% [t 32881
(B(7 : [
SULE RAE . BEREA (TR
2R |Huwe BN - (58 WA | Xmm RBEBE
&2 ) mamaR | WeE | amm | cmeEn | SO0 | yaekw | AoeAR | mawx | R | Asm
HE (R, 2Aa) - FEEEE (13
Ra2.28) 2t [TUN TR roe| | o no 0 0 0 0 0 7,002 0 0 o
R3.2.25| 22 |BASFL v hEF—F— KEBA 41,580 mol 4,530 0 0 ¢ 0 0 0 o} 41,580 of
Ri.2.260 23 |SEMEESE (. 284 aan) 10| 4 4uu| 0 0 0 0 0 4,400 1 0 ul
Bt o| 1. 040, 031 w8639 4,296 ol 773,575 0 o 1.402] e 334 54032 of
wt 8| 5 113,084 4,046, 309] 37,784 60, 000| 2, 973, 337 0 ol 14921 5618 173,738 qf




(&= 4)

B
= & Wk &
[(DESTREES]
SH3E AR [9rA #EA]
(Bfr . D
s 23 g HERIHE (FELOMAR)

wAB | wEA RAMENE - [k WA | s %ﬁgﬁ% -

" (s8) mamsat | wes | osmm | cecew | ZERE | omuemn | REEAR | BUER | SER | ARR

RILL1E 1 |FPaERERE 5ﬁ'fq:—?\) 4,050 1oq 4, 950 0 0 0 0 0 0 4, 9501 0 0 (

TOESCHREQEDDENY 11702 -

R3.1.17 2 Sk Erele ' 1,260 100 1, 26 1, 260 0 0 0 0 0 0 0 0 f
R:.3.2 & |HVUL 6,178 24 1,544 1,544 0 0 0 0 0 0 0 0 q
R3.3.4) 4 |aE—#y—=# @A 13,824 50 6,914 { 0 0 0 0 0 0 0 6,912 q
R3.3.5 5 |EBHEWESE GAD 102,857 0 51, 424 o 0 0 0 ly 0 0 51,428 0 i

R3.3.11 & [FHVY 24t 5,927 bL 1,481 1,481 0 ) 0 0 0 0 0 0 (

RN 7 |EEMESAHEE QRS 3,742 54 1,871 0 0 0 0 0 0 0 1,871 0 (

.31 &8 |EHEFHEESHE BGEM 756 5 378 0 0 0 0 0 0 0 378 0 q

R3.3.18 9 |HEAUKERE (B10A~3B8EM) 3,058 5 1,974 0 0 0 0 0 0 0 1,979 0 {

R3.3.18 10 |HIEFTAKENE (1H10B~3HBES) 3,900 50 1, 851 0 0 o 0 0 0 ly 1,851 v (

R3.3.18 11 |BHEFmESAEHERER 3AS) 10, 000 5( 5, 004 0 0 0 0 0 0 0 5, 000 Y d

RE.3.19 12 |2 E—REAME CAMAR) 3,3000 50 1, 650 0 0 0 0 0 0 0 y 1, 650 q

R3.3.23 13 |HV UK 6121 24 1, 53( 1,530 i 0 0 0 0 0 0 0 q

WM (MF. 3A4) - EEREEH (I J

R3.3.28] 14 Tiabs 3H4Y) 7,707 104 7,704 g 0 0 o G 0 7,702 0 0 i

R3.3.27 15 [TsSq v T —BEA 008l 50 499 0 0 0 0 0 0 0 0 499 (

R3.3.28] 16 |ETRAMEEEM (5. 3AM 4,400 100 4, 40( 0 0 0 i 0 0 4,400 0 0 i

R3.3.31 17 |BBAEENE GAD . 6,800 5 %, 404 0 0 0 0 a . 0 0 0 3, 400 i

d 0 G 0 0 0 0 0 0 G {

R o 186, 675 97, 935 5,815 ¢ 0 0 0 0 17, 052 62, 607 12, 461 i

B8 o 5,299, 75¢ 4,144, 334 43, 699 0 60, 0001 2,973,337 0 0f 158,973 722,225 186, 200 {
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L = 5
= & K& &
[BEITREES]
SH3E 3HR () [4re Al
(B 1D
- B/ BEREE (RHOMNER)
#RE | 583 RISMENE - it WAE | EmEm BRI
s (%) BEFRR | R | amR | cenum | ZOON | mummk | RERAR | BEER | SER | ASR
R2.8.5 fifRE UAF S ASE 84, 904 q 0 0 0 0 0 0 0 0 0 g
R2.8.5 SR K USRS A 86, 237 q y 0 0 0 0 0 0 0 0 (
R2.8. 20 fiR&UGASAS 84,313 q 0 i 0 v v 0 0 0 0 q
R2.6.15 SIREUIASAE 88, 875 i 0 h; 0 0 0 0 G 0 0 q
R2.10. 23 ERLVIASAE 123, 141 i 0 0 0 0 0 0 0 0 0 (
R2.10. 28 =REUVIADASE 53, 302 q 0 0 0 0 ly 0 0 0 0 (
R2.12.2 £REUICBOAS 85, 387 i o 0 o 0 0 0 0 0 0 q
R2.12,2 SREUITEDAS 80, 501 q 0 0 0 0 0 o 0 o 0 q
R3.2.9 FRLVIZBAAE 94, 421 q 0 0 0 0 0 0 0 0 0 i
R3.2.16 =IREUIA G A® 2,307,084 i 0 0 0 G 0 0 0 o 0 a
K‘f §L & SREUZAHAS 908, 639 { 0 0 0 o 0 0 0 0 0 c
,
R)? r)-é HREUIASAE 97, 835 { 0 g 0 0 0 0 0 0 0 {
A
{ 0 0 0 0 0 0 g 0 0 q
{ 0 i 0 0 o 0 i 0 0 d
d 0 0 0 0 0 0 o 0 0 {
g 0 0 0 g 0 o o 0 0 1
( 0 0 o o 0 0 0 9 G {
q 0 0 0 o 0 0 0 0 0 {
A ) 4,144, 334 0 q 0 0 ) 0 0 0 0 o 0 {
i 4,144,334 5,299, 759 4,144, 334 43, 599 0 B0, 000 2, 973, 337 0 of 158,973 722,225 186, 200 {




